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* Uniform background
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PWA Results for J = 0,1 and background
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PWA Results for J = 0,1 and background
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PWA Results for J = 0,1 and background
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J = 0,1 and background
Isobar fit results
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PWA Results for J=10
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PWA Results for J=10

= center = 1407.46 +/- 8.20
—PDG: 1(1405) = 1408.8  +/- 2 "J=0
= width = 51.92 +/- 11.18 +
“PDG: n(1405) = 50.1  +/- 2.6
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The leakage from J=1
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PWA Results for J=10
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The n(1405) looks reasonable
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PWA Results forJ =1
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center = 1284.57 +/- 1.37
PDG: f(1285) = 1281.9 +/- 0.5 "J=1
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PWA Results forJ =1
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center = 1284.57 +/- 1.37
PDG: f(1285) = 1281.9 +/- 0.5

width = 19.21 +/- 4.33
PDG: f(1285) = 22.7 +/- 1.1

center = 1381.39 +/- 10.20
PDG: h,(1415)=1409 +9-8

width = 41.59 +/- 21.79
DG: h,(1415) = 78 +- 11
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* FEach of the f, states are close to PDG values
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PWA Results forJ =1
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PDG: f(1285) = 1281.9 +/- 0.5

width = 19.21 +/- 4.33
PDG: f(1285) = 22.7 +/- 1.1
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* FEach of the f; states are close to PDG values
* Note: The most recent BESIII has mass(/,)=
and width
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